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2014 :

ADVANCED ACCOUNTING
. (Major)
Paper : 405
Full Marks : 80
Time : Three hoﬁrs

The figures in the margin indicate full marks
for the questions. '

Answer as directed : 1 x8=8

(a)* Write the meaning of Non-performing Assets
of a Bank. :

() What is Acturial Valuation in the context of
" a Life Insurance accounts ? :

(c) ‘Write with reasons whether the following
statement is true or false : :

“Capital Value of the investment is always
"equal to the Nominal Value of the
Investment.” -
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(d) Mention one important feature of Inves 1091 8
Acecount. CC u,nt
(¢) What is meant by ‘Insurance Claim’ ? 1

()  Write whether the followmg Statement i 1n
context of Insurance claim is true or fal S|

- “If the stock was undervalued, the amo _ 0
- by which it was undervalued should be add o
‘to the given value.”

(g) Name any two committees formed
Parliament for control of public expenditur

i

; iy MING J ormatlon
- (h) Write two important objectives of GASAI

2 At following : 2x6=1

(i) What is Investment Account ? Explain. ore appropriation
(ii)  Shivaji purchased 300, 12% Debentures [6) ! ‘

; Tomtom Ltd. @ Rs. 95 cum interest o
01.06.2013. Interest is payable on 30th Jun i
and 31st December each year. Calculate ceount (31.03.2013)

cost of Investments for Shlva_]l. ' B _ .

] r Reserves

(iii) Write a brief note on “Period of Indemmty
in the context of Insurance Claims.

L™ .
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lum Trading Account™
ance Claims ? Show a

tﬁ tives of Government
R0 §

po differences between
counting and Commercial

i

fowmg balances, prepar
R ‘Reserve and Surplus for Sun
e on 31.03. 2014 from the

Rs.
6,000

4,000
3,000
12,000
6,700
4,000
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OR

.
lates its reserve for

it 50% of the net premium
 and maintains additional
f net premiums annually.

Explain the special features of Accountint
of a Banking entity. ‘ ;

(b) Write short notes on : 2Y5x2=5

()  Life Fund and §Q show the adjustment
erve for unexpired risks
L

ing ‘Premlums Earﬁed

5

(ii) Reserve for Unexpired Risk in the
context of Life Insurance and General il
Insurance Companies respectively. o i MH

}tWO of “the folldwmgr‘j"-;“
OR '

Y00 - AWl k| i A

; ; < 5%2=10
A fire insurance company provides the . |

following information as on 31.03.2014 § ;; d‘escribe thé powers"of the

h‘lp‘troller and Auditor General of

Rs. A in connection with audit of

Reserve for Unexpired Risks as on 01.04.2013 : 1,40,00,

Additional Reserve for Unexpifed Risks

- e - y describe the Government_'
as on 01.04.2013 : : 40,00.

ounting Standard setting

| . ‘ followed in India.
Premiums earned during the year : 2,50,000 b

a note on the ‘Consolidated

{ India’.
7)‘ & .

Reinéurance Premium during the year : - 20,00 0
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4. UBI Bank Ltd. supplies the following balances ] : - c-
on 3lst March 2014. v ‘ v we presented in the Final
¢ Wil Rs. o
Bills Discounted and Purchased (Dr.) - 4,36,00 o
L ; A ‘ ] I3 t
Rebate on Bills Discounted (31.3.2013) (Cr) 8,001 Qi tion. ascertained its
‘ l‘70 00,000 by preparlng
R 2014,
ha *he followmg had i)een
)ntS !

- Discount Received (Cr.) ] 87, 0

The particulars of bills discounted are detall
below (Due dates include grace periods) :

&1
bkt

o © Rs. 60,000

Amount of Bills Discounted  Due Date Rate of discoun [ -+
b * ‘ |

206,000 3132014 10% B Tvestments : Rs. 80,000
130,000 w wliR0d, s 1o udedumd on () above : Rs. 10,000
100,000 10O o0ie Y L 10% ot

not admitted : ~ Rs. 50,000
You are required to calculate the Rebate on Bills .

Discounted as on 31.03.2014 and to pass th
necessary Journal entries in this regard. 10

i “ teduction of premium :  Rs. 15,000

Rt
| sted under re-insurance :  Rs. 20,000
, 1 5 ; ‘ :

6 ‘ d to pass Journal entries to give

: ¢ adjustments and also show the

‘! e Fund. 10
"'lm:\-

.

Explain the following terms in the context of Ban g
Accounts : , ‘ 5+5=10

(i) Non-banking Assets :

. il - 7 Contd.
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idd balances you are required
ount of the Insurance
o, ded 31,03.2014 in proper
OR u 10
The followmg balances are extracted from
accounts of a General Insurance Company
related to the year ended 31st March 2013.%

RS ) 1)

rmation taken from

D'i ‘! ’””

i 0
Reserve for Unexpired Risk (01 042013) 3,004 d B balang f)og f(csoﬁ
Additional Reserve (01.04. 2013) : 60, mds of Rs. 5,0 A
; on 31.12.2012.
Premium : : 1 T
~ On Direct Business 00, 7
On Reinsurance Accepted
On Reinsurance Ceded »
Outstanding Premium (31.3.2014)
Outstanding Premium (31:3! 2013)
Claims Incurred :
On Direct Business -

i hcgivabie on Apr‘ilg‘il' and

8 Gach year. St

feceived interest upto October

% GUREN

D0

1, 2013 the company further
1 Bohds of Rs. 1,50,000 at a cost

On Reinsurance Ceded : d

| 0,000.
On Reinsurance Accepted :

Outstanding Claims (31.3.2014) 0 ggé%@r . 0 %%sooworth
Outstanding Claims (31.3. 2013} : o 100 were e for

Commission ;: _ ),00 . tmmred 1 prepere, dnvestmen;

Commlssmn on Reinsurance Ceded ‘ year ending Decen}bf A

Employees Salaries etc. ﬁﬁrmt’ hypkepas ot /2/;) t:)ln

Legal and Professional Charges : ﬁu'mg $06) denaring 2, SEEH

10
Other operating expenses :

Profit on Sale of Investments 9 Contd.
Interest, Dividend and Rent |
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OR
Write brief notes on :

(i)  Cum-interest

(ii) Ex-interest
(iii) Fixed income bearing securities

(iv) Brokerage.

7. M/s Sushmita Ltd. supplied the follow
information : ;

(i)  Accounts are prepared on 31st Deceml
' each year and net profit for the year 20
amounted to Rs. 7,50,000 after chargi
standard charges of Rs. 3,30,000. Sales f
2012 were 54,00,000. a

(ii) Fire occurred in the establishment on Ju

(iii) Sales for three months ending 30t
September 2012 and 2013 were Rs. 4,50,001
and Rs. 1,50,000 respectively. :

. (v) 'The Company took a fire policy fa
' Rs. 14,00,000 with a six month indemnit
period. ; |
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i & months penod ended on June

Sai= f6f 12
:

‘38 3013 were s, 58.00,000.

5 campany spent i, 10.000 as additional
’-*FEES ta Vﬂiiﬁgéﬂf’ the effect of the loss.

e equired to ascertain the amount of

$i3i: #Hie

it 16 be lodged in the above case. Also

iaie whether :\\'(’!‘”gc clause will be
sisplicable or not in ascertaining the amount
=3 8+2=10

af claiim

| 4500
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